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2. Using your calculator, find

a) arcsin 1. 90
b) arccos0.7071067811865. 19

/)
3. Using your calculator, find the angle whose cosine is .8. 20 b

®
4. Using your calculator, find the angle whose sine is .6. 2[5

5. We know that sin30° = .5. Write down your estimate for sin 15°,
then check your estimate with the value from a table or calculator.
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8. If arcsin x = 60°, find x, without using a calculator.
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9. Using your calculator, find arcsin (sin 17°).
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. Find the legs of a right triangle with hypotenuse 9 and an acute angle
of 72 degrees.

. The two legs of a right triangle are 7 and 10. Find the hypotenuse
and the two acute angles.

. Aright triangle has a leg of length 12. If the acute angle opposite this
leg measures 27 degrees, find the other leg, the other acute angle, and
the hypotenuse.

. A right triangle has a leg of length 20. If the acute angle adjacent
to this leg measures 73 degrees, find the other leg, the other acute
angle, and the hypotenuse.
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1. When the sun’s rays make an angle with the ground of 46 degrees,
how long is the shadow cast by a building j}zf@t high?
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2. At a certain moment, the sun’s rays strike the earth at an angle of 32
degrees. At that moment, a flagpole casts a shadow which is

long. How tall is the flagpole? \0.5wm .
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